(araT=ral, uregy®, AUt fAfor vd geaid gaTT)

YRS Rrer guidr yaror—ua gdier 2023

THAT YR A
Model Question paper

H&1—8
Class - 8
THY — 2.30 €U (Subject) (Social Science) UI;UTT'GE — 80
Duration —2.30 Hrs Total Marks - 80

TUS — 3
Section - A
TS T (1-6)

Multiple Choice Question (1-6)

gea—1 9 & T Ul § A9 9El Aded & 99 -
Choose the Correct option in the following questions

(i) SRTBNIBRI 71 3RS INAT §RT IR RPE &1 yarT fdar —

(31) are faare 28q (@) sfoer & 3rega 2q

(#) fewh =g (@) ufdae IR & Bq (
Historians used the records prepared by the British for

(a) Debate (b) Study of history.

(c) Comments (d) report preparation

(i) BYST AR Bl feIeTdl Bl —

(37) FERTOM STARTE-1I (@) Fard waRiE

() AR IIRAE (@) o ol Rz (
Who chaired Hurda Conference-

(a) MaharanalagatSuigh Il Jai Singh (b) Sawai Ja

(e) MaharanaAbhay Singh (d) Raja Durjan Singh

(iii) TY 2011 & IITAR HRA DI STTHAT & —
(31) 100 FRIS @) 121 BRIS
@) 141 RS (T) 145 TS (
The population of India according to Census 2011 is
(a) 100 crore (b) 121 Crore (c) 141 Crore (d) 145 Crore



(iv) TeT P71 3ref § —
(@™ BT AT
() ARl T eE—ve™
Tourism Means
(a) Import of goods
(c) To exchange views

(v) AHIRTS =T B AaWH © —

(1) BT I
() ST

@) amE &1 frafa
(=) woT B S

(b) Export of goods
(d) To travel

(@) BT R BRI

() SWIad a4

Which of the following is necessary for social justice.

(a) To make laws
(e) Public Consciousness

(b) Law enforcement
(d) All of the above.

(vi) "1 TR, ST UGl AT BT e AT ©
(@) Afge AefdamyoT

(31) =T YuT FAT BT ]

SIRIECIRERIEIERIRCAR G

(]) arfera fRrem &1

iSRS

Which one of the following is an objetive of "Beti Bachas BetiPadhao
(b) women empowerment

(a) To stop female foeticide
(c) Construction of public toilets.

(d) Promotion of girl child education

TUE —
Section - B

AT RIS T

Very Short Answer Type Questions

o2 T 1 G BT —

(i) MR FEdadr
(i) Y BT
(i) TeTaTar e
(iv) 971 faar=

Match the following-
(i) Independence of India
(ii) Jhum cultivation
(iii) Oriental Education
(iv) Child marriage

(a) BIET 3R TN
(b) L JTURTE
(c) 1947

(d) TR qroT

(a) cut and burn

(b) legal offence

(c) 1947

(d) Sanskrit Language

1x4=4



Rad wI=l &1 g iy —
Fill in the blanks.

Ue—3 WU & AR MR & T RIS, o L5 gl 2
According to Constitution, the organs of the government are the and the Legislature,
and the
JTT—4 TTH TATIT BT TR oo BIT € | UTH TARIT BT BIRIBI oo
T e 2 | 2
Head of Gram Panchayat is .Tenure of a Gram Panchayat is years.
TeA—5 UTHIAD AT oo H TR BRI B | oo RICARED
ATE BT SRR ¢ | 2
Natural resources are obtained from . is an example of natural
resource.
geI—6 JMMfaardl oeq BT 31 T (T H e a2 2
The is meaning of the word tribal is They live in
JIT—7 STRIET AR BT e 152 E BHRB JATIT B % | 2
and affects the distribution of population.
Yls—Y9
Section-C

ATRIHD I
Short Answer Type Questions
7 gel & SR <IfTT—
Answer the following questions

11/2+11/2 =3

Ug—8

(i) T &1 g fha—{Ha & e garm ?
Between whom was the battle of Plassey fought ?

LS TR 7 4T3

1o —cﬁw@qﬁ ...................... Hi‘aﬁwﬁm .................................... ”aﬁq_aﬁ:{qﬁgﬂ? ..........................

Which were the prevalent economic activities in tribal groups before the 19th Century ?




12 172
1 =

ge—a—9 +1
() grarel e & wHed Qg™ @ 9 qagy ?

Name the scholars who supported oriental education.

TSN 027 2 T3l

(i) 17 9 TATST @ R Gl Gl B Big <1 fIeEay s ?
Mention any two features of Indian cotton clothes of 17" century.
TSN 27 2 T3l

172 12
1 =

Y9—10 +1
(i) 1857 @I Hifd ® FIT BRI A ?

What were the reasons of 1857 revolution ?
TSN 027 2 T3l OO

0 wﬁﬁ ............ q@ﬂw .................. ﬁ? .................................................................................................................

Why Permanent settlement system failed?

JeI—11 IR TWIRFET SHofl ol T Ag@yqol 8?7 B &1 IR WIRET Hofl & SSTER0T SIoTg?
2+1=3
Why non-conventional sources of energy are important ? Give any two examples of non-
conventional sources of energy.



geI—12 FHY A AT 9T F93d 27 BN W YT PIg &I Id1&T & M gy ?

What do you any mean by agriculture? Name any two agricultural products.

NTTCIN/ANST(1)  oeereeemeereese ettt es et 8 2084242 EE £ 428828 Re bbb nE e

JII—13 SR BT JaRAFT BT AIfad BT Il BRBT BT guiT BT ?

Describe the factors affecting location of Industries.

JI9—14
(i) TRBR gRT FAfeld Hig &l BN Aorei & =4 ferfiy ?

Name any two schemes related to agriculture run by Government.

12
1

+11/2 =3

AFTCIN/ANS T (@)1 eeeeeteene et eeeesees et et as e84 E Rt

(i) ORI & Y g8< SN B IGERY STy ?
Give examples of major large scale industries of Rajasthan.

TeI—15
(i) TSI & 11 ! GRET B 91 Y&l fpd S oF 2

What measures were taken for the safety of forts in Rajasthan.

12
1

+1

12



(i) Tf¥e™ ISR H STHEIT B dl RISIRRIT &I 37Ul BH B | BRI Bl T HIFY ?

The population density of Western Rajasthan is less than that of eastern Rajasthan. explains it's
reasons.

JI9—16
(i) EHfRRYSTT W oMY 9T FHS 8 7

What do you mean by Secularism?

" W ........................... @Wg? ....................................................................................................................

What is meant by Independent Judiciary?

UeT—17 141" =3

(i) WROR P9 ISR ¥ AFING I B T <dl 27 DS & SGIENT eIy ?

How does Government promotes Social Justice? Give any two examples.

P mﬁﬁwwmﬁﬂﬁ .............. e

Mention any two public facilities provided by the Government to the citizens.



UeT—18 1741 =3
(i) ITATHUT BT B Fed H FAAT THR W ¥ YbR ¥ Sad a1 AHhdl § 7

In the Context of unpopular laws, how can the public put pressure on the Government?

o |cm>,ﬁﬁﬁqaﬁ¢ ............. Em ................................... ? ............................................................................................

Analyse the role of Parliament in Democracy.

gI—19 IoRE & 7S § = {5at &1 vy 3
(i) PIET (i) R (iii) AP

Locate the following districts in the map of Rajasthan.

(i) Kota (ii) Dungarpur (iii) Sikar
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YJUg—q
Section -D

geI—20 3MSHar fAgIE &1 guiq e el H HIFTY ? 6
Describe ‘Auwa revolution’ in your words?
31=dT OR
1857 BT Hifd BT ITHIA] B HRUN BT IO HITT ?

Describe the reasons of failure of 1857 revolution?

geT—21 AWM B Sird H G &1 et &1 avie SIforg ? 6
Describe the role of Police in crime Investigation.

3127aT OR
=TT YUTel H fer A & Sy T AHed § 7

What do you mean by fair trial in Judicial System?



gei—22 AT WRE0 & UM qargd ? 6
Explain the measures Soil Conservation.
3dT OR

T W R A &7 [RAIRYd S FHssd ?
What are the benefits of Forests? Describe in detail.




Ue—23 SIFRTEATE | A 31 A & 2 fI)R b awemsy ? 6
What do you mean by Mass Nationalism? Explain in detail.
3TdT OR
ARG & ol G H el T &1 AT & f[d==r sifsg ?

Discuss the role of Mahatma Gandhi in Freedom Struggle of India.




